i 50

= +4 == < *0 N= N VAN ==

ST LR KE BEEE BHieEEKE., BIERBED PR

—., EEXEY FRBER BR #

A =] i

& 5 9 =

£ g g NH il A H % — fm 3%

. NS A A 2 g 2 8 # %

= MEm . RE2F (FFEERELR., BIR , UWEXI[EEL)

=, BpIREEX

|52 (2 £ g # ) (28 £ g # ) ERZRZEEEE (2 X 7 1)

. |EBBRERE R BEIEENERBXEED|IEET R B RB DB ED

3% - BHY | R & \ il Bl e g e R | BE

(8 #E £ B/ ) H R B B B | |KE BB B B B H

1 O o 7o _ 25
Ox % #® &

5 O o ik 6 =45y
Ox # & &

3 O o Fik e =5
Ox % & &

4 O o 7ok _ 245
Ox % & &

5 O o 7ok 6 =45y
Ox % #® &

5 O o 5o _ =5
Ox % #® &

. O o 746 =245y
Ox % & &

o O ok ik =4
Ox % & &

9 O o 7okt _ =245y
Ox % & %«
O o Fik e =4

10 Ox & #& ¢

11 O ok i =4
Ox & #& %
Ok i _ 25

12 Ox & & &
O o Fik e =4y

13 Ox & #& ¢
O o 7o _ 25

14 Ox % & &
O o 7ok 6 =45y

15 Ox & #& 4«
O g Fig e =4

16 Ox & #& %
O o 7okt =245y

17 Ux & # 4«
O ok i =4

18 Ox % & &
O o 5o _ =5

19 OFx # #& =«

B RKRERAZE REBFEDIER , BIERED S5 B9,

=, BoREHRRESRBERZNTESHPAFESER) !
TAGSERE
O=—HKRH)EX RIS 4029(08E 10+8H30) O=FE%¥ , #HS 50 24 (& 20+ B A 30)
OXREZ(E) A LEZE | BiE 60 22 (EBHE 20+F%%E& 10+8H 30)
RE(EREDRBZEFY F(EBREERTRIESZBPEHRED , ZaBKT 20 29)

Bz
=R
R

AE/NFHESR g5 - % = -
BFRE _ BH 2 s
AR EBEAE H , Ry gamp | L

B g, (& BEE HE

XEREHE  BHoEKRE)RERPEFAREANE)KEAFHAE , —EAREYH , BRPFZE, & "




